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M. A. (ECONOMICS) (MEC)
Term-End Examination

December, 2022
MEC-002 : MACROECONOMIC ANALYSIS

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from both the Sections as

per instruction.

Section—A

Note : Answer any two questions from this Section

in about 500 words each. 2x20=40

1. What 1s meant by steady state in the neo-

classical growth model ? Explain how steady

P.T.O.
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state 1s maintained in the Solow model when

population growth is taking place.

Consider the decentralised household

problem in the Ramsey model. Derive the

condition for modified golden rule and interpret

it.

What is meant by endogenous growth ?

Describe a simple endogenous growth model.

Explain how divergence in growth rate is taken

care of in such models.

Interpret the IS and LM curves. Explain how

equilibrium output and interest are determined

on the basis of IS-LLM curve.
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Section—B

Note :Answer any five questions from this Section

in about 250 words each. 5%x12=60

5. “Discretionary fiscal policy may not be good for
the economy.” Do you agree ? Give arguments

in support of your answer.

6. Explain how the Phelp’s golden rule is an

1mprovement over the Solow model.

7. Discuss the short-run and long-run Phillips

curve with the help of an appropriate diagram.

8. Bring out the salient features of political

business cycles model.

9. Explain how the permanent income hypothesis

explains the Kuznet’s puzzle.

P.T.O.
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10. Describe how the efficiency wage theory

11.

12.

explains wage rigidities.

Explain why fiscal policy may be ineffective
under flexible exchange rate in an open

economy.
Write short notes on the following :
(a) Real business cycle

(b) Lucas critique
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TH. T, (37edymeR) (W, 3. )
LI
feawr, 2022
T, . 9i-002 : |ufe srefvmer @ favawor

gqT : 3 U2 HfIFTT 3% ¢ 100

T : [R¥IgER 3 9 @ 7oA @ I {iferq)

THT—aT
FIZ : 39 97 G [F2] ] g5 & I U/ T5-
T TG 500 I9F 1 2%20=40

1. 7% foem & faeenfdsd  (neo-classical)
Hied § feeR a7l (steady-state) T B 2

Fasy fh el (Solow) Hied H TR ofawen i

$¥ oE W@ Wl @ S SMEe 9hg 8 @l
[
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2. TS (Ramsey) Hiedt o fash=ipd =ie] Twen &1

NSl ks HINfad @i fam = fow vt

1 <IMST TH TAh! AR HIfST]

3. 3fid (endogenous) T{FE T oY N gEEd

g 2 AU Th WA Faslid gfg Wed w1 9ui
FIY T JHR & Hieell ¥ gfg W F fomem
H HY M § W Sl 8, THAEU

4. ISTE LM 9% ! THIET| [S T LM 9% &

HYR W Y Ffeld SR (equilibrium
output) T =S = fruffa feean ST %,
SNIERY

HAT—d

7T 2 59 9 G (T g FIA & ITH U

JT-GIHT FTHT 250 35/ 5%12=60

5. “fagenfii  (Discretionary) US&hIoEd ifd &g

IR AdTawen & fau =31 & & Gehdtl” R
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3T THY HEHd & ? U IW & gHedd H a@
sy

e i gaﬂf 99 (Phelp’s golden rule), el

(Solow) Hisd § GR B| $hd ? THIEY

THh SUgH @ & WEEH o Iee wd

Aehtd H fRfasd o &1 = sifsa)

TSHifaeh AR F%h (Political business cycles)
Hied i & fawmand SRy

TR A YRekeU T (Hypothesis), e 9aail

(Kuznet's Puzzle) &1 O 9 Wl @,

HHART|

I Rl "I\Tlifl fagT< (efficient wage theory),
OSigd 1 @Al (rigidities) I SN H
2, Ry

P.T.O.



[8] MEC-002

11. T et sdogaen ®, a<iet fafma R &
=, USRS Aifd s A9l 81 SRl T,
HHHART|

12. Frfafed foaw w gaw 9 feooft fafeag -

(37) ardfaess AR 9k (Real business cycle)

(9) TR FHIET (Lucas critique)
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